Ak =

—. W G Hn =4 EER TR, G IRAEKER 3 M, U 8(G) <3.
(10 43)

T RSN IR AR AEAN DA B AN T AT PR T PR A A X — 4 R
XA A L, FHRLGRZ L IR, B Te I B A W E 5
ST L3 i G LA, RS BRI (RRIE B B A9 SR S RER G BT . (20 43)
= LK Gutr, BN R) .
1) G@EAZERRBIE? BB
2) G AW ? Bl
3) GaAHE? BE

a

(15 73)
. W ofE ko oo, R
A,B,C,D,E,F,G,H tljfﬂa@iﬁ%ﬁﬂ—lt:

Az 25% B:
20%

C: 15% D: 15%
E: 10% F: 6%
G: 5% H: 4%
W — MR AT R AT, TERAHT 100" (n=4) % IR AR H L) 78F
Bt A AR (20 97)

T A1 B D Wt B s, 81N 2 ) (i>
1) D K EER 3 kL 2 b4k 2 Y
Hrpfg 2 /b5 ml g ?

2) D vy Bl v KRN TAET 3 (R
PR EE ZOE

3)D vy B SR/ TAET 3 ]
2 DK

(15 77)

V4

N

N W GETRI K], EEEE A=2, O G YRR AR 2 2
A& 0330, WY G &P R EBAF . (20 7))



